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(1) IREE : 40°C, MHAHBEE 75%. 3 » H. #8ah 7 A, K%
(2) MWEE : 25°C, FHAHBEE 75%. 3 » H. 87 A, Bk
(3) & :HEYEE 120 4 Lux - hr (2500Lux™, 20 H), 25°C, FHXHEE 45%, > v —L Bk
sk 1 S PN I JEE = 9 500Lux
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(1) \ERMET
AR IE H ) HHE BR AR RE 1% A 2 % H 3 H
PELR FHaDFEEE SRy SRy A bR
Rt0.33 : 0.4%LLF 0.00 0.00 0.00 0.01
Rt0.85 : 0.4%LLF 0.15 0.18 0.22 0.25
ol P 3R (%) TR : 0.08 0.11 0.14 0.07
0.2%LLF
WY E &
0.8% LI T 0.26 0.33 0.50 0.37
AR EER (FD) 60 LI 22 29 24 29
TRHEER B/ ME| pH1.2, 15 70 F 87.5 88.6 87.5 90.9
(%) | s 80%LL L 90.0 90.0 89.6 91.7
EERBR%) | 95.0~105.0% 103.0 102.5 102.2 100.9
1 £ (N) SEH 25 23 25 26




(2) WFERMHT

BRI H e HL e B AR 14 H 25 A 3% H
PEIR FfaDFEEE A A ikey A
Rt0.33 : 0.4%LLT 0.00 0.00 0.00 0.01
Rt0.85 : 0.4%LL T 0.15 0.16 0.17 0.18
ol 3BR (%) T MK - 0.08 0.08 0.09 0.06
0.2%LLF
RS E &
0.8% 51 0.26 0.28 0.37 0.30
AR EERBR(FD) 60 FLLLAN 22 27 27 26
VB B/ ME | pH1.2, 15 /3R 87.5 89.3 91.5 91.7
(%) | FHhE 80%LA I 90.0 90.4 92.7 92.2
EREABR(%) | 95.0~105.0% 103.0 103.9 102.2 101.8
i £ (N) SEfH 25 23 23 23
(3) FHEMFT
AR A e FEE BH 4G IRE 30 5 Lux * hr |60 J7 Lux * hr {120 & Lux * hr
Pk p— . FE S T A3 R 1 A3 FEL S T 203
W GICER | MEAICER | MEAIER
Rt0.33 : 0.4%LLF 0.00 0.04 0.07 0.15
Rt0.85 : 0.4%LLTF 0.15 0.23 0.23 0.30
ol 3BR (%) COMEK - 0.08 3.24 4.08 4.69
0.2%LLF
WS E &
0.8% 51 0.26 5.25 6.82 8.49
Fr a5 (D) 60 FLLLN 22 28 23 32
VB B ME | pH1.2, 15 53R 87.5 83.8 84.5 85.1
(%) | FHE 80%LA I 90.0 86.4 86.3 85.7
EEABR(%) | 95.0~105.0% 103.0 96.6 96.4 93.6
1 (N) ZEfE 25 20 20 20
@i
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WT 30 5 Lux * hr X VEEAEFEHILEG LT, £7-. EHEYEOEMMAED 51, 30 5 Lux * hr
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